N & 0l & AF S & M M

20169 = S0l& LA MSASW
R s R SE=an);
M MIHME AE
g4 d2Hs 84 XY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ME&sH 32,127,899 21,868,901 10,258,998
Xl 798,000
J| 4,067,429
< 4,956,490
Al 22,305,980
MH=s &S 32,059,385 21,831,613 10,227,772
X 798,000
J| 4,067,429
< 4,956,490
Al 22,237,466
HE2HE 24 X& 11,783,683 11,270,885 512,798
Xl 258,000
< 401,000
Al 11,124,683
H2ME s4 29 1,273,842 1,461,872 A 188,030
201 Let24d] 1,800 1,900 A 100
01 At 22l 1,800 1,900 A 100
OAEH=HA &= M 1,400
O&zd 70,0002 = 103l 700
OAAHE 70,000& = 103l 700
OAZ MSHA A& 3HE 100,000 * 43| 400
202 044l 1,920 1,920 0
01 = LH o4 1l 1,920 1,920 0
OUZHESHAMFTA ASTH OHI
20,000& = 3H * 4 * 83 1,920
203 YR =& 3,000 3,000 0
03 A F=AH =AY 3,000 3,000 0
OLZTHEAFA 2,000,000& 2,000
OXMSAIESHA =2 1,000, 000& 1,000
307 glz2tol & 1,267,122 1,310,252 A 43,130
02 It M AHE X 881,000 976,000 A 95,000
O&HEFAXIFC K& 200,000,000 * 13 200,000
OFFAM=2 X3 A 671,000
OFFA R8s SHEX
110,000,000& * 13l 110,000
OFFAN =BUSR SN
130,000,000& * 13l 130,000
OFFA s&dH 2oted
13,000,000& * 13l 13,000
OFFHNME SRS K&
15,000,000& * 13l 15,000
o=zl &4
260,000,000& * 13l 260,000
O&=MsUla =& 60,000,000 = 13l 60,000




SN HSTED
M AN HE AE
ool M2XS sS4 N CER-ED
4
SA BB (SH) - NRAY - B Ol At o %E& HRE2
O&=24iLdUNsUHe &4
30,000,000 = 13| 30,000
ONH & d=203 =&
13,000,000& = 13 13,000
OANZUE dX0tctEUS &H
20,000,000 * 23| 40,000
O=2MH=LFAL 10,000,000 = 13| 10,000
03 AU EESIHES 386, 122 334,252 51,870
OFFANMETE MRP=Z2 29 386,122
OJl=z3(6Y) 215,154,000 215,154
(OE=3= 42 273,000 42,273
o= 4| 81,956,000 81,956
Og R =&Y 3,300,000& 3,300
O& 2L AH| 15,600,000 15,600
OZ2LW Y| 3,000,000& 3,000
Oget4d9y| 24,839,000 24,839
HFEAZD ER2U3 8,000 8,000 0
307 2Iz2t0| A 8,000 8,000 0
04 SIZ2ISHAAIH E & 8,000 8,000 0
OHMI323 HZ=AIZED| B2U 3
8,000,000& = 13 8,000
HEF=ANED EU3 8,000 8,000 0
307 212t0| & 8,000 8,000 0
04 SIZ2ISHAMAISHE E X 8,000 8,000 0
OHMP243 HE=AIZI| S U3
8,000,000& = 13 8,000
H=ANAD| HLUALS 8,000 8,000 0
307 QI2t0| ™ 8,000 8,000 0
04 CIZ2tSHALALSE B X 8,000 8,000 0
OHMI393 HF=AIED| HULALS
8,000,000 = 13| 8,000
HFEAZD SEHU I 8,000 8,000 0
307 gizto| A 8,000 8,000 0
04 CIZ2tSHALALS B = 8,000 8,000 0
OHM293 HE=AIZD| 23
8,000,000 = 13| 8,000
HFEANED| BHE O S 15,000 15,000 0
307 2iz2to| A 15,000 15,000 0
04 QIZ2tSHAFALS B = 15,000 15,000 0
OM198 HFAIED| EHHEEZUS
15,000,000 = 13| 15,000




R s R SE=an);
M MIHME AE
o9 MRHS 54 X8 (B9 ®R)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EFANEI HNEHEEUE 20,000 18,000 2,000
307 gl2tol & 20,000 18,000 2,000
04 DI2ZHHALALSE E X 20,000 18,000 2,000
ON183 HFAFI HEUESEEFZU
20,000,000& = 13l 20,000
EF=ANEI 203 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OM143 HEF=AEI 2 U3
8,000,000& = 13l 8,000
EF=ANEI =3 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
OHM148 HF=ANEI =FUHs
8,000,000& = 13l 8,000
EFAEI 2EZU3 13,000 13,000 0
307 glz2+ol & 13,000 13,000 0
04 QIZFHALAIH E = 13,000 13,000 0
OHM133l HF=AHEI =2ZUs
13,000,000& * 13/ 13,000
EFAED| HEU 3 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
04 DI2HHALAISE E X 12,000 12,000 0
OHM9al HFAZEI| HISU3
12,000,000& * 13l 12,000
EFANEI HAAZX3 20,000 15,000 5,000
307 gl2tol & 20,000 15,000 5,000
04 QIZFH AL AR 2 & 20,000 15,000 5,000
OM73 HFAEI| HAAZX[T
20,000,000& = 13l 20,000
BFANEI E==HHEQEUE 13,000 13,000 0
307 21201 A 13,000 13,000 0
04 DIZHHALALSE E X 13,000 13,000 0
OHMB8al HFAEI HHHELEHHS
13,000,000& * 12l 13,000
E=ANEI NS 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B & 8,000 8,000 0
OHM2sl HEFAEI MNEUE
8,000,000& = 13l 8,000




R s R SE=an);
M MIHME AE
©9: MEMS |4 KW (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EFANEI SEU3 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DI2ZHHALALSE E X 8,000 8,000 0
OHMb5a HFAEI REUE
8,000,000& = 13l 8,000
EFANEI SHUS 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OHM2sl HFAEI S4&U3
8,000,000& = 13l 8,000
E=AZEI| AOISMTBAHE HTH 3 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
OHM23 H=AIZEI| ALOISMTBAHE HH S
8,000,000& = 13l 8,000
EFAED U3 8,000 8,000 0
307 glz2+ol & 8,000 8,000 0
04 QIZFHALAIH E = 8,000 8,000 0
OHM33 H=AIZH =E i3
8,000,000& = 13l 8,000
EFAED Z2=U3 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 DI2HHALAISE E X 8,000 8,000 0
OHM18al HFAHEI 2=Us
8,000,000& = 13l 8,000
EFANEI EW clSoHa 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OHM23 HF=AMEI S 2lE007UHE
8,000,000& = 13l 8,000
28 &= 2 T3 i 20,000 18,000 2,000
307 21201 A 20,000 18,000 2,000
04 DIZHHALALSE E X 20,000 18,000 2,000
Os=2g &= 2 AEHAUS Mzl
2,000,000& = 103l 20,000
dIR==H 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B & 5,000 5,000 0
OHM1538 &=22==H 5,000,000& = 13l 5,000




SN HSTED
M MIHME AE
ool M2XS sS4 N CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
I A=2AMYBEUS 40,000 60,000 A20,000
307 gl2tol & 40,000 60,000 A20,000
04 DI2ZHHALALSE E X 40,000 60,000 A20,000
O3FI d=4g AU
40,000,000& = 13l 40,000
HEFAXNINHAATZX A=A 30,000 60,000 230,000
307 21201 A 30,000 60,000 230,000
04 DIZHHALALSE E X 30,000 60,000 /30,000
OFFAX FHHAAZX MRS
30,000,000& * 13l 30,000
HIFAFANE =TS 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
©2016 E3 X &= AFHAl HAEE
15,000,000& * 13/ 15,000
AR 8= =. 0.0 3U3=sH3 40,000 40,000 0
307 glz2+ol & 40,000 40,000 0
04 QIZFHALAIH E = 40,000 40,000 0
OHM108 MXHH &= S.10.04 33 s
40,000,000 = 13l 40,000
FEI HA=2REUHSE 200,000 200,000 0
< 100,000
Al 100,000
307 glz2tol & 200,000 200,000 0
= 100,000
Al 100,000
04 QIZFHALAIH E = 200,000 200,000 0
02016 FSJ| E=2R&EU3
200,000,000& * 13l 200,000
< 100,000
Al 100,000
d= g sg2dId=2AAUH3 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OHM508 =gl SELI =AU
20,000,000& = 13l 20,000
8= OelolSgEUe Sial 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OHM3s M= oelol SEUE S
20,000,000& = 13l 20,000




2M: s
HH: ASIA

@ M2 =4 X (cho &)
- - _ RE!

M. o (BH) - HSAY - BAS 0 AF o il HD=2
AMGAN)| M= .3 S2=UE 40,000 40,000 0
307 212t01 & 40,000 40,000 0
04 DIZHSHAFAIRHE 2 X 40,000 40,000 0

OHM133 HIAMHAAT) M= Y. =03

40,000,000& = 13] 40,000
NER2S IR 84 6,893,341 6,051,975 841,366
201 LEt2 Y| 167,871 189,442 A21,571
01 At 22l Yl 30,800 61,080 A 30,280
OSsS: M8 Xz
720,000 = 7CH » 6 30,240
ozs® d= % MUz 5 8%
70,000& * 8JH 560
02 =294l 133,071 128,362 4,709
OXNE2SHIR =42Y 60,900
O&Il= 90,000& » 10= = 12& 10,800
OZAIIAZE 160,000& * 10 = 12& 19,200
O2telt] 240,000& * 10s = 128 28,800
Otz 2,500& * 108 = 12& 300
O4dt=E g 15,000& * 10 » 12& 1,800
OHAT dEXN=SH 2Z 3,120
O&Il=2 250,000& = 12& 3,000
O&dt=& & 10,000& = 12& 120
Ost=4a Y AHAWZ HI 3,000,000& * 68 = 18,000
OZdE HSH(L=Z, A AZE) 2,541
OAUESR 9412 = 3004 * 3L x 3 2,541
o2sy dsid d=hl
1,325& = 74 = 20 * 1004 = 12& 22,260

o2s® ds8xE XNSXHAM  165,000& = 10CH 1,650

O2s: MEXSE BE8EZ 700,000& = 10CH 7,000

OSREIENY SFMNHRE S

50,000& =~ 10CH = 23] 1,000
o4 RALE 300,000& = 1000 A 3,000
OSMESA(SERSHUY) 2222 (80|,
T) 6,000,000& 6,000
OQEAZH B2L=(HI|, 2 &EH|, Y,
£0) 7,600,000& 7,600
03 S AIS H H 4,000 0 4,000

ONE2SEIIR steel & &AL 4,000,000 4,000
202 O B 2,426 2,426 0
01 2L Y| 2,426 2,426 0

OXNFZ2EEIR 29 £ HI=E=H 2AEX O

Hl 75,8003 * 2% x 8L * 23] 2,426
206 = bl 401,850 396,050 5,800




M MsSAEL
M ASHE &=
oelr M2HS 84 X (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 X2 bl 401,850 396,050 5,800
odlt =2 =82 L Y| 57,200
ogst=2l 5& 200,000& * 65 * 6Y 7,200
O3t& 198 40,000 » 25 = 508 50,000
O=AR 28 4 HIES 20,000
Ogs=s2 58 200,000& * 65 * 10Y 12,000
OOL0tetES2 55 100,000& * 8% » 10& 8,000
O2c=® =d¢ L ZIES 42,000
Oogst=2 45 200,000& * 65 * 794 8,400
O2d3ste 58 800,000 * 65 * 7& 33,600
OZL:R =2ds3 ¢ &Y 37,200
OE=E2 55 200,000& * 68 * 1Y 13,200
O=&2 10 40,000 » 12 = 508 24,000
OHAER &8 L HIES 33,600
ogst=E2 55 200,000 * 65 * 10Y 12,000
OHAEZ=2 103 60,000& = 12 * 308 21,600
ONZEIOAZE &8 L HIES 15,850
Oosgs=2 78 200,000& * 8& * 6Y 9,600
O&Jlste 35 25,0008 * 5& x 50& 6,250
QXL AMZE = Y FHI 46,800
OAMNA=ER 75 200,000& * 8& * 8Y 12,800
O&AEL? 158 40,000& + 17& = 508 34,000
OWXE=ZE ESHEE L FH| 58,400
ogst=2 55 200,000& ~ 65 » 74 8,400
O3starel 1958 40,000& = 25 * 508 50,000
OUBIAIZHE ZEHEE L FH| 90,800
OAMNZE=2 45 200,000& * 7& * 129 16,800
OAER 315 40,0008 » 373 * 508 74,000
301 AP B A 6,027,756 5,461,307 566,449
W= - 2s2SE2423 6,027,756 5,461,307 566,449
ORsE H(ds) 3,586,800
oz=s 60,000,000& * 6Y 360,000
ozs 54,000,000 = 3Y 162,000
O=ZAX 51,000,000& * 3YH 153,000
O=ZX 46,800,000 * 2Y 93,600
OEd 38,400,000& * 1H 38,400
Od =z 63,000,000 * 4Y 252,000
OH = 53,400,000& = 59 267,000
O 44,400,000 * 109 444,000
OH = 40,800,000& = 3594 , 428,000
O 32,400,000& * 49 129,600




M HSUED
M ASHE &=
ool H2HS 84 N (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Od % 46,800,000& = 2H 93,600
o= 43,200,000 * 3H 129,600
OHEYL S 2T
500,000& * 6 = 12& 36,000
OXNESESHIE EHNESZ 44 400
OoZ= 300,000& *~ 9¥ * 12& 32,400
O=2X 150,000 * 6Y = 12& 10,800
OEdold 100,000& * 1¥ = 12& 1,200
O2ss =&l 1,306,200
OZ4Aldl 540,000& * 78Y x 12& 505,440
O=s=| 35,000& = 78 * 12& 32,760
O 2t Al H| 25,000 = 78Y x 12& 23,400
O&XZ& I 70,000& = 78" * 30 163,800
OWtisl&&Hl 60,0008 = 78" = 103 * 6Y 280,800
O3 =™ LAILA
1,000,000& * 30¥ * 103 300,000
oO=2JlHEXE 104,400
ox=s 300,000 * 9H * 12& 32,400
OH = 300,000& * 174 x 12& 61,200
O=2X 150,000& * 6Y = 128 10,800
O e A2 100,000, 000& 100,000
OMllEE = S 20,000& = 78Y¥¢ * 12& 18,720
OdAEX = L MAHUS =IOt
30,000,000& = 43| 120,000
ONFSESYIR AEE=AHE 29
1,000& * 900P * 78YH 70,200
OXME2SEIIR NXHH B2 677,036
OE&AZ 3,550,800,000& * 1/12 295,900
OH2LEE 3,550,800,000& = 3.035% 107,767
O&IAEE 107,767,000 * 6.55% 7,059
O=30d=8=2 3,550,800,000& * 4.5% 159,786
OongEgsEassfdg=2 3,550,800,000& * 1.5% 53,262
Ottt Tl BEABE 2
3,550,800,000& * 1.5% 53,262
401 Al HI L 2 THHI 6,710 0 6,710
01 Al&H| 6,710 0 6,710
ORAE =4 SEHA 21222 S A
6,710,000& 6,710
405 XtabF SHI 286,728 2,750 283,978
01 AL 2 ZF S| 286,728 2,750 283,978
OXNHSEHIIE Nt 245,000
Os&ex 35,000,000& * 7CH 245,000
ozE!e 25 7Y 7,450




M HSUED
M MIHME AE
g4 d2Hs 84 XY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Odltl e =] 7,450,000& * 14 7,450
OotHa:® =23 ¢ 330
OM g 2| 330,000& * 1K 330
OWA 23F =4 =38 1,000
O&MH 1,000,000& * 14 1,000
O=S4T =4 E8 800
OdED 800,000& * 12K 800
OFMIAZE 23 17,000
OEetolAH &5 16,000,000& * 12K 16,000
Oz &=H 1,000,000 * 1K 1,000
OLBAIZR MR 23 15,148
(OF=PIES- 5,000,000& = 2& 10,000
oz Fd 1,000,000& = 10 1,000
O4I 3218 384,000& = 404 1,536
o4l 1212 192,000& * 24 384
odlols 160,000& * 24 320
OMa & NE 122,000& » 20H 244
[@XIPN; 120,000 * 2K 240
ObE S0 E 196,000& * 44 784
Ot Rl 192,000& * 24 384
oz# 128,000 * 204 256
SIIAAEHHACAWS EHD| A= A UHe 2 && 80,000 100,000 220,000
(2d) 82U U3
307 gl2tol & 80,000 100,000 220,000
04 DIZHHALALSE E X 80,000 100,000 A 20,000
OHM108 SF=AMUHHCHUYUIHD| MIEHAE
U3l & HM3a S (2E)sUS U3
80,000,000& = 13l 80,000
SIS RM d=203 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 QIZFHALAIH E = 20,000 20,000 0
OHM158 S=2HSR0 HIU2
20,000,000& = 13l 20,000
318 =02 EU3 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 DI2HHALALSE E X 20,000 20,000 0
©3.1& o= OttEMSl 20,000,0008 * 14 20,000
S Icl = WM B3 90,000 0 90,000
307 glz2+ol & 90,000 90,000
04 QIZFHALAIH E = 90,000 90,000




R s R SE=an);
M MIHME AE
ool M2XS sS4 N CER-ED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=FZcltl &= FHUM HH=2Ua
90,000, 000& 90,000
EI H= 0 =580 =z 10,000 0 10,000
307 gl2tol & 10,000 0 10,000
04 DIZHHALALSE E X 10,000 0 10,000
O&I d=2 g =W L2U3
10,000, 000& 10,000
8t= SNHEFAYSFI| =2 FFRU3E 40,000 0 40,000
307 21201 A 40,000 0 40,000
04 QIZFHALAIR B & 40,000 0 40,000
O8l= SN FHUIEHI A= F2U=
40,000,000& 40,000
Hetd =3 S S M= U3 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 QIZFHALAIH B = 30,000 0 30,000
OUst=2 8ol &t stME T3
30,000, 000& 30,000
2016 E=HNAHSUOIAH NS 1,839,500 0 1,839,500
307 glz2+ol & 1,839,500 0 1,839,500
02 RIZFE MM E X 1,839,500 0 1,839,500
O2016& F AN A RO OtAE MU
1,839,500,000& * 13 1,839,500
A=A ANd B 860,000 0 860,000
Xl 258,000
< 301,000
Al 301,000
308 XX EHSOIA 860,000 0 860,000
X 258,000
< 301,000
Al 301,000
08 WEII20HStE X 860,000 0 860,000
OF=F= M&21 o2& HE=> 860,000,000 860,000
Xl 258,000
< 301,000
Al 301,000
s sS4 X 452,415 437,949 14,466
ZOHQ M= 243t 341,415 326,949 14,466
307 21201 A 321,415 290,114 31,301
02 YAFHAANFEE 134,500 126,500 8,000
OFMeN= 2 ML= 7,000,000 7,000
OB MEHSZ2Y 2IXNA(7THEH)
32,500,000& 32,500




2A4: MEIEDL
M AN HE AE
el Hfed=E 54 & (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OHOMR E=3rWA 24  25,000,000& = 100 A 25,000
OHM103 M=Z2HHNSMHSUHE &
7,000,000 = 13| 7,000
OM8s HEEXN=sls &2H
5,000,000 = 13| 5,000
O==2=s0tol stotsdslHa =d
5,000,000 = 13| 5,000
OMN3be M=FHOHMEUHE &2
20,000,000& = 13| 20,000
OHM133 M=2&0C SHMsUHSE &2H
3,000,000 = 13| 3,000
OM108 E2X0H0e0IsS MENEUHE &8
20,000,000 = 13| 20,000
O&=U3 &I &8 10,000,000& = 13 10,000
03 QIZIHHAES2IHIEX 186,915 163,614 23,301
OFFA HOMoN=s 29 186,915
(OPIE=3=| 102,724,800 102,725
(OE= 13,193, 100& 13,194
O=c2 =M 43,656,000 43,656
Og =& 3,300,000& 3,300
O&HZH R L8 AH| 3,600,000 3,600
[@]0: Nl 1,500,000& 1,500
oA 18,940,000 18,940
402 SI2F X0l & 20,000 36,835 N 16,835
01 QAN SAIE E =X 20,000 36,835 16,835
OXHQIMEHS2SHETHIXNHA(1E=Z)
20,000,000 20,000
HEANED HOHQIIA=Z0 3 8,000 8,000 0
307 giztol A 8,000 8,000 0
04 DIZ2tSHALALS B X 8,000 8,000 0
OHM23 HFAIEDI M IIASZMZ
8,000,000 = 13| 8,000
HE=ANED| HOHS MEXNs SF2UE 8,000 8,000 0
307 2iz2to| A 8,000 8,000 0
04 QIZ2tSHAFAFS B X 8,000 8,000 0
OHM73 EFAHI HOWUMENS &MU
8,000,000& = 13| 8,000
HEZ=AED HOjC MEME 203 8,000 8,000 0
307 2Iz2t0| & 8,000 8,000 0
04 SIZ2HSHAAISH E & 8,000 8,000 0
ONMB83 HFAIXI HOMMIMENT 2=U 3
8,000,000& = 13 8,000

BFAEI HHAEFAU 2 8,000 8,000 0




R s R SE=an);
M MIHME AE
?2: ZeHE 84 X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 8,000 8,000 0
04 DI2HHALALSE E X 8,000 8,000 0
OHM6sl H=AIZEI| HoHe =2U3
8,000,000& = 13l 8,000
EFANEI M= HHECEWS 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OM7al HF=AZEI HSHUBECEHS
8,000,000& = 13l 8,000
E=ANEI ZOHAAHOIESHS 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
OHM4zl H=AMEI HOHANOESHS
8,000,000& = 13l 8,000
X d=ZOHQIEBHEIH A=A 3 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
OM72 HXHH 82ZOHAHESUESH AU S
20,000,000 = 13l 20,000
AT A=2F0e E=2U3 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 QIZFHALAIH E = 20,000 20,000 0
OXXH dIHMHAE2U 3
20,000,000 = 13l 20,000
AT A=A EHMABA Sd=A3 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
OMb52 XX =M 823
15,000,000& * 13l 15,000
AKX NEE0Hels2HE 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OHM73l AX XNEHMHA =23
8,000,000& = 13l 8,000
MEH =S 243 3,648,287 3,594,779 53,508
J| 483,429
< 77,490
Al 3,087,368
AZEHIRHAIYE K& 272,191 255,978 16,213
J| 190,533
< 40,829




SN HSTED
M MIHME AE
chelr MEHS 248 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 40,829
301 et d =S 272,191 255,978 16,213
J| 190,533
< 40,829
Al 40,829
01 MEI2EZE+05l= 272,191 255,978 16,213
OAZ=2E 0l2A XIF 68,047,550 » 43 272,191
J| 190,533
< 40,829
Al 40,829
oM LR )M E T = Xl &= Xt X 332,958 331,344 1,614
J| 158,652
< 4,680
Al 169,626
307 21201 A 332,958 331,344 1,614
J| 158,652
< 4,680
Al 169,626
02 UAFAAFEX 332,958 331,344 1,614
oYt a S XS AU XI  83,239,500& * 43| 332,958
J| 158,652
< 4,680
Al 169,626
OE2AHLN &M= XS XHEH X 281,374 254,880 26,494
J| 134,244
< 3,600
Al 143,530
307 glz2tol & 281,374 254,880 26,494
J| 134,244
< 3,600
Al 143,530
02 IZHE M AHE X 281,374 254,880 26,494
OZ & ME XS Xl &= Xt X
70,343,500& * 43| 281,374
J| 134,244
< 3,600
Al 143,530
ANZEEXH S X X BH X 27,936 27,936 0
< 8,381
Al 19,555
307 gl2tol & 27,936 27,936 0
< 8,381
Al 19,555
02 IZHEHAHE L 27,936 27,936 0
OZSESZMUEMSA T
6,984,000& = 43| 27,936
S 8,381




EM MENEDL

M AN HE AE
e MEHs 243 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 19,555
MEHs 24 A3 230,927 225,920 5,007
201 gEt24y| 1,407 1,400 7
01 AF 2t 2| H| 1,407 1,400 7
OMEBRSALEA S
7,000& * 3Y¥ x 67Y 1,407
202 044l 1,920 1,920 0
01 2L I 1,920 1,920 0
OMEH=TIELE2=& OH|
20,0003 x 3¥ * 42 x 83 1,920
307 212t0| & 227,600 222,600 5,000
02 QIZHBAAIE E X 227,600 222,600 5,000
OMN26s =23 MEN=sUs
85,000,000& * 13| 85,000
02016 SE=STANAF & TAHES A MEHS
ES8g =4d 27,000,000 27,000
02016 MEH T =34 d=20U3 &4
10,000, 000& 10,000
©2016 TS MENEWME e KX (23)
10,000,000& 10,000
OHMN11e EEET 22X M sUa s
17,000,000& = 13 17,000
OM93 E=s0dMEN=UHs a8
8,000,000& = 13 8,000
OHM173 =S MHMEHFTIEE BUHRH 0]
=123 =& 2,000,000 = 13| 2,000
02016 ==SMNESSHALUE &
8,000,000 = 13| 8,000
©2016 MEH SN X HRIHAH|
200,000® * 24¥H = 12&€ 57,600
02016 EFAIMEH S AL2X A5
3,000,000& = 13 3,000
MEH=s 29 & 505,301 520,269 A 14,968
307 QI2t0| ™ 505,301 450,769 54,532
03 AU EESIHES 505,301 450,769 54,532
OFFANMNMEN S AIRZ2 22X H 505,301
OJI=23(8Y) 179,202,000 179,202
(OE3= 128,272,620 128,273
O=Z2ec =4 130,692,790 130,693
OgR=&H| 3,300,000 3,300
Oger2d9y| 60,332,590 60,333
Ol 3,500,000& 3,500
MEH= AMIUALSE ALY 326,000 292,702 33,298
307 QI2t0| ™ 326,000 292,702 33,298




EM MENEDL
M AIHE TS
A

Ee: MEHs 245t (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 It M AHE L 326,000 292,702 33,298
©2016 S HItEELZ WA 10,000, 000& 10,000
O=8XNs FFHNESHH 2949
24,000,000& 24,000
©2016 MEHSWA 29 286,000,000 286,000
02016 Hel0lMswa 29 (3ML)
6,000,000 6,000
AFANAESEI MEHs S3EUH N2 42,000 42,000 0
307 21201 A 42,000 42,000 0
04 DIZHHALALSE E X 42,000 42,000 0
OFFAMHESE) MEBHSESSYE US(333])
42,000,000 42,000
MEHFH AKX 50,000 50,000 0
307 21201 A 50,000 50,000 0
04 DIZHEHAFA I 2 X 50,000 50,000 0
OMEN= HAXA 5,000,000& = 103l 50,000
AT MEMs d3HUAME 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
©2016 2 XIH M| d=HLAHE
30,000,000& * 13l 30,000
X 8= Ol=HILIATHS 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 DIZHSHALALH 2 & 7,000 7,000 0
OHM3s Xt MEME &20=HLAUE
7,000,000& = 13l 7,000
FFAEH ¥ S0MEHE -2 45,600 35,000 10,600
307 21201 A 45,600 35,000 10,600
04 QIZFHALAIH B = 45,600 35,000 10,600
ORN2s HFTAIZU SUMEHS |-212(68])
45,600,000& 45,600
EFANEI MEH=E =703 12,000 12,000 0
307 glz2+0ol & 12,000 12,000 0
04 QIZFHALAIH B = 12,000 12,000 0
OXN3sl HFAEI HEH=E =2U=
12,000,000& * 13l 12,000
EFANEI MEH=E ANOE2UE 6,000 6,000 0
307 eI+l & 6,000 6,000 0
04 DI2HHALALSE E X 6,000 6,000 0




SN HSHED
M MBS IE
A

e MEHs 243 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OHM23 HFAIEI MEH= HOE=UHS
6,000,000& = 13| 6,000
HFANED MEHNE &SR0 10,000 10,000 0
307 2Iz2t0| A 10,000 10,000 0
04 QIZFH AL AR 2 & 10,000 10,000 0
OM33 HF=AIADI MEHF EFRUI
10,000,000& = 13 10,000
HFEAED MEHS SIZUE 6,000 6,000 0]
307 212t0| & 6,000 6,000 0
04 DIZFSHALAIRI B X 6,000 6,000 0
OM33 HFAIHDI MEHFE SIS
6,000,000 = 13| 6,000
HE=ANAE MENS A LIALS 5,000 6,000 A 1,000
307 QI2t0| & 5,000 6,000 A 1,000
04 DIZFH AL AL 2 & 5,000 6,000 1,000
OM33 HFAIEH MEHE HHHLALS
5,000,000 = 13| 5,000
HE=ANAU MEHE BECYLIHSE 7,000 6,000 1,000
307 gizto| A 7,000 6,000 1,000
04 CIZ2tSHALALS B = 7,000 6,000 1,000
OHM33 HFAIEH MEHE BCLYHS
7,000,000 = 13| 7,000
HEANED MEHF OFFRUS 10,000 10,000 0
307 2iz2tol & 10,000 10,000 0
04 DIZHEHALAFRI B X 10,000 10,000 0
OHM3a EFAHI MEHM= U
10,000,000& = 13| 10,000
HF=ANED MEHE SFRUS 8,000 8,000 0
307 2Iz2t0| & 8,000 8,000 0
04 QIZFH AL AR 2 & 8,000 8,000 0
OHM23 EFAHI MEH=E EF2USI
8,000,000& = 13 8,000
HEAAD MEHNs J2d2E2Z0U3 6,000 6,000 0
307 212t0| ™ 6,000 6,000 0]
04 SIZ2ISHAAISHE E X 6,000 6,000 0
OM23 HFAIED MEHs D222
6,000,000 = 13| 6,000
HEANAED MEHNS HFRUS 6,000 6,000 0
307 QI2t0| & 6,000 6,000 0
04 CIZ2tSHAPALS B = 6,000 6,000 0




2N
X ZH -
L= B
el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHM2sl HFAZEI| MEM=s AU
6,000,000& = 13l 6,000
EFANEI MEH=S W30z 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OHM3s HFAZEI MEHE d=2MWH3cH0lE
=l 8,000,000& = 13l 8,000
FFANFI MEH=E dUAHE 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZHH A AL 2 X 8,000 8,000 0
OHM2sl HFAEI MEM=E HLULAME
8,000,000& = 13l 8,000
EFANZTH MEXH= 703 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIH B = 6,000 6,000 0
ON3s HFAIZH MEHE U2
6,000,000& = 13l 6,000
EFANEI MEHE BHECIEHWS 12,000 12,000 0
307 glz2+ol & 12,000 12,000 0
04 QIZFHALAIH E = 12,000 12,000 0
OM3a HFAMFI MU= HHELUEU S
12,000,000& * 13l 12,000
AT MEHE 22U 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
04 QIZFHALAIH 2 = 6,000 6,000 0
OM22 HEFAZHH HEMs =2 U3
6,000,000& = 13l 6,000
EFANEI dEHS 2= 6,000 6,000 0
307 gl2tol & 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
OHN28 HFFANFI HEHF ==
6,000,000& = 13l 6,000
FFANFI MEHE 72U 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
OHN2sl HFAEI MEHME =s7UE
6,000,000 = 13l 6,000
EFANEI MEHs 24U 6,000 0 6,000
307 21201 A 6,000 0 6,000
04 QIZFHALAIH B = 6,000 0 6,000




SN HSHED
M MBS IE
A

e MEHs 243 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OHI13 E=AIXD| MEHS 2AUHT
6,000,000& = 13| 6,000
HIMHAA H¥SOI2HEAU S 220,000 220,000 0
307 2Iz2t0| A 220,000 220,000 0
04 SIZ2HSHAAISH E & 220,000 220,000 0
OHM143 HIAMAA HHSOIUEAUS
220,000,000& = 13 220,000
HIAMHM)|] 200MEH ST B2AZEUE 15,000 0 15,000
307 212t0| & 15,000 0 15,000
04 CIZ2tSHALALS B X 15,000 0 15,000
OF143 HAMYMI| 2VIMBHZ B2 A
CH3al 15,000,000 = 13| 15,000
HAMHAAMG M=2F]03 45,000 45,000 0
307 QI2t0| & 45,000 45,000 0
04 CIZ2tSHAPALS B = 45,000 45,000 0
ON43 HIAMAAH M= 20U 3
45,000,000& * 13l 45,000
AU MEME d=2HHELEUS 40,000 40,000 0
& 15,000
Al 25,000
307 gizto| A 40,000 40,000 0
& 15,000
Al 25,000
04 CIZ2tSHALALSE B = 40,000 40,000 0
OHM23 AXEH 8= MEM= BHEEHHF
40,000,000& * 13l 40,000
& 15,000
Al 25,000
MEHST HFAIQ A220/03 20,000 20,000 0
307 2izto| A 20,000 20,000 0
04 QIZ2tSHALALS B 20,000 20,000 0
©2016 MENMSF HZAIL A22D0H3
20,000,000 = 13| 20,000
HE=AN MEH=UE 95,000 95,000 0
307 2iz2to| A 95,000 95,000 0
04 SIZ2ISHAAIH E & 95,000 95,000 0
OHM3a HEFAl MEY=UZ
95,000,000& * 13| 95,000
HF=AN MEHMSHAHZE SOIEFH 8,000 8,000 0
307 2Iz2t0| & 8,000 8,000 0
04 SIZ2ISHAAISH E X 8,000 8,000 0




2N
X ZH -
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el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORM32 HFA HEMSFUMOZY SOE=H
8,000,000& = 13l 8,000
S4& H=0| OtetENS 40,000 40,500 A 500
307 gl2tol & 40,000 40,500 A 500
04 QIZFH AL AR 2 & 40,000 40,500 A 500
OHM125 RAA H=O0I02HE W
40,000,000& = 13l 40,000
AFATARHD] DFE AL 35,000 35,100 A 100
307 21201 A 35,000 35,100 A 100
04 QIZFHALAIR B & 35,000 35,100 A 100
OM163] AHAIHCHD| JFEAHEH
35,000,000& = 13l 35,000
EFKX QLES0AHEWU S 70,000 100,500 230,500
307 21201 A 70,000 100,500 A 30,500
04 QIZFHALAIH B = 70,000 100,500 230,500
02016 = KTX2s OttEU 3
70,000,000 = 13l 70,000
stotS& 1t 3l 45,000 70,000 A 25,000
307 glz2+ol & 45,000 70,000 A25,000
04 QIZFHALAIH E = 45,000 70,000 A 25,000
OHM 163l & 0t8 Z2IIU3  45,000,000& * 13 45,000
MEA sMdEY 2ad Z2Us 20103 37,000 37,800 800
307 21201 A 37,000 37,800 A 800
04 QIZFHALAIH B & 37,000 37,800 A 800
02016 MEA=MET QA ZH=ZIIUE
37,000,000& = 13l 37,000
Selagad JEZ0IUs 37,000 37,800 A 800
307 21201 A 37,000 37,800 A 800
04 QIZFHALAIH B = 37,000 37,800 A 800
OHM103 Seladdd JIIE2I1U 3
37,000,000& = 13l 37,000
AT A=2MOI2U 3 80,000 80,000 0
307 glz2+ol & 80,000 80,000 0
04 QIZFHALAIH 2 = 80,000 80,000 0
Q2016A XIS M = A0l 2 THE
80,000,000& = 13l 80,000
AXALE 2010 A 28,000 28,350 A 350
307 glz2tol & 28,000 28,350 A 350
04 DIZHHALALSE E X 28,000 28,350 A 350
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2 S 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
©2016 Z XAt ZIIHEH &
28,000,000& * 13l 28,000
AN A== U3l 35,000 35,100 A 100
307 gl2tol & 35,000 35,100 A 100
04 DIZHHALALSE E X 35,000 35,100 A 100
OHM9sl X d=2=2U3
35,000,000& * 12l 35,000
SEXNFEE U 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 DIZFSHALAIRI B X 30,000 30,000 0
OM13s s=22FE2U3
30,000,000& * 13l 30,000
EZI|U 3 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
OHN6s 2&2Z2IIU3g 20,000,000& = 13l 20,000
AT H=Z=A03 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 DIZtHALAIHE E X 40,000 40,000 0
ORM3a X &I ZAU3
40,000,000& = 13l 40,000
ANY MeEXMsEdH L 48,000 48,600 A 600
307 21201 A 48,000 48,600 A 600
04 DIZFSHALAIRI B X 48,000 48,600 600
OHM7al HMXH MEME SHUH U=
48,000,000& = 13l 48,000
MAZIIS & D18 HIMPALZI|HS 45,000 20,000 25,000
307 21201 A 45,000 20,000 25,000
04 QIZFHALAIH B = 45,000 20,000 25,000
02016 FFMI=NESINIE EFAY A2 2D
hal 45,000,000& * 13l 45,000
HRAMHAME dIZLE 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
04 DI2HHALAISE E X 20,000 20,000 0
©2016 HAMBNH M ZAHUZ
0,000,000& = 13l 20,000
=2 YENS0oF2UE 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 DIZESHALAIH E X 10,000 10,000 0
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el

ni

Olon

=

=&
ALBI HI =
MET =

g A
0 0loh

st

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORM82 5= &M= oF2U 2
10,000,000& * 13l 10,000
S22 HEE 10,000 10,000 0
< 5,000
Al 5,000
307 gl2tol & 10,000 10,000 0
< 5,000
Al 5,000
04 DIZHHALALSE E X 10,000 10,000 0
02016 =8 W& A 10,000,000& * 13l 10,000
< 5,000
Al 5,000
H2cs SE=SMEMSUH MR 270,000 0 270,000
307 glz2+ol & 270,000 0 270,000
04 QIZFHALAIH E = 270,000 0 270,000
OHM26s sSE=EZMUEMSUHI M
270,000,000& = 13l 270,000
2016 AlQlster 224 Sal2 21U & 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 DI2HHALALSE E X 20,000 0 20,000
©2016 24 a2 213
20,000,000& = 13l 20,000
SSHESAE &S 16,175,000 6,528,000 9,647,000
X 540,000
J| 3,584,000
< 4,478,000
Al 7,573,000
WrdEHssadxzd 1,000,000 300,000 700,000
Xl 300,000
< 350,000
Al 350,000
401 AIEHI L 20HEI 1,000,000 300,000 700,000
Xl 300,000
< 350,000
Al 350,000
01 A& HI 946,400 290,000 656,400
OU=dEM=E2 =4 A&
946,400,000 946,400
X 283,920
S 331,240
Al 331,240
02 Zeldl 50,000 0 50,000
OU=Maxs3Za =4 Zeldl 50,000,000& 50,000
Xl 15,000
< 17,500
Al 17,500




A

2AH: A

=]

IF&E
M MIHME AE
Sl BIUSAL =5 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 AlE 2 THHI 3,600 10,000 6,400
OU=MENMSSH =4 ANLRUHL
3,600,000& 3,600
Xl 1,080
< 1,260
Al 1,260
U= dEHS S3L4d 5,000,000 0 5,000,000
401 Al HI K 201 I 5,000,000 0 5,000,000
01 A& HI 5,000,000 0 5,000,000
OU= MEMSZSE =4 5,000,000, 000& 5,000,000
& M2atH M3 =4 20,000 0 20,000
401 Al HIZ 2018 20,000 0 20,000
01 A& HI 20,000 0 20,000
OFE &K HMISZSE ALY JI2EA
2 29 20,000,000& 20,000
f HEN=SZ3E =4 800,000 900,000 A 100,000
Xl 240,000
< 280,000
Al 280,000
401 A& HIZ 201 Y| 800,000 900,000 A 100,000
X 240,000
< 280,000
Al 280,000
01 A& HI 794,700 897,000 A 102,300
OHPMBHSIY X4 AL
794,700,000 794,700
Xl 238,410
< 278,145
Al 278,145
03 Al S THHI 5,300 3,000 2,300
OLRMENSSH =4 ANLRUHY
5,300,000& 5,300
Xl 1,590
< 1,855
Al 1,855
T AUHEAE AHAY 4,000,000 0 4,000,000
J| 2,000,000
< 2,000,000
401 A& HIZ 201 I 4,000,000 0 4,000,000
J| 2,000,000
= 2,000,000
01 A& HI 4,000,000 0 4,000,000
OFF ALYST HYAY ALY
4,000,000,000& 4,000,000
J| 2,000,000
= 2,000,000
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Z 2 A

340 340 ofor
i ¥
~ Ol

=
x
I
O

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
AN HEHINE AEHA 5,280,000 0 5,280,000
J| 1,584,000
< 1,848,000
Al 1,848,000
401 Al I 28I 5,280,000 0 5,280,000
J| 1,584,000
< 1,848,000
Al 1,848,000
01 A& 8l , 198,500 0 5,198,500
OAFHA HEZINE AE Al&H|
5,198,500, 000& 5,198,500
J| 1,559,550
S 1,819,475
Al 1,819,475
02 Zeltl 71,500 0 71,500
OAFHA HEZIE A Zeldl
71,500,000& 71,500
J| 21,450
= 25,025
Al 25,025
03 A& S THHI 10,000 0 10,000
OAFHA A& A& 20
10,000, 000& 10,000
J| 3,000
< 3,500
Al 3,500
HEPZH HYSY 55,000 0 55,000
401 Al&HI 2 28I 55,000 0 55,000
01 A& HI 55,000 0 55,000
osg=73¥ Z 55,000,000 55,000
2 MEXH=EIA Z8A 20,000 0 20,000
401 Al I 28I 20,000 0 20,000
01 A& HI 20,000 0 20,000
Ol MEMESS 2 Al E A
20,000, 000& 20,000
e GZH(MEsHED) 68,514 37,288 31,226
4l 25,924 37,288 A 11,364
=3l 25,924 37,288 A 11,364
201 £B-2d| 11,044 14,168 A3,124
01 At 22l 11,044 14,168 A3,124
OJlegesd =24l)
5,500,000& 5,500
osH (OIEZ 5,544,000 5,544
202 o4dl 11,880 15,120 N 3,240
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M HEXED
M HER2GIU(MESIED)
& 123l (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 = LH 4 bl 11,880 15,120 A 3,240
OJIEZ 11,880,000& 11,880
203 R =&Yl 3,000 3,000 0
04 NI FAH 3,000 3,000 0
©J| & X (1521 018t) 250,000& = 12& 3,000
el 2l 42,590 0 42,590
ol Al 42,590 0 42,590
101 1A bl 42,590 0 42,590
03 RIAHAAZZ2RHE > 42,590 0 42,590
OZ2RA B 40,151
OPIR--= 2,200,000 = 1H » 128 26,400
(OF==—F=4 188,480& * 1H = 123 2,262
OIMA X &bl 115,000& = 1H = 12& 1,380
O= &l 130,000& = 1H = 123 1,560
OnsEXH 130,000& = 1H » 12& 1,560
OFE S tHl 1,130,900& » 1H » 2& 2,262
Ooxzuze=4 176,000& = 1H » 12& 2,112
OAx=< 70,7503 * 18 » 20 1,415
OnEY 100,000& = 1H » 123 1,200
OXXIHH FE3 2,439
(OFaR=g-g= 26,400,000 * 3.035% 802
O¥INIEH 801,240 » 6.55% 53
OnE:Ed 26,400,000& * 4.5% 1,188
Ot EH 26,400,000& * 1.5% 396
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